(BEE)F2R HERETE

TRETH 4 INAET THRXEmE 114.2km
= EREIOEE | SHTEE | FH2FE - - - -

7 (MR EE kri 445 445 445 445 445 - -

Z)i HEREA—ARH T F 77,313 77,856 78,256 78,656 79,056 - -

B e mmms 2 as— | FERBRRE | 36,065 36,085 36,105 36,125 36,145 - -

X PHRERA R =S AEEEBUE | % -0.2 0.1 0.1 0.1 0.1 - -

e HERERNEAT RE % 46.6 46.3 46.1 459 457 - -
—— m 406,565 408,690 409,523 410,473 411,423 - -
SELR IaiEEHEUE | % 0.1 0.52 0.20 0.23 0.23 - -
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TRETH 4 FEIRET THRXEmE 92.8kni
= ERIOEE | FHTEE | FH2FE | o = | o - T N -

7 (MR EE ket 3.7 3.7 3.7 3.7 3.7 - -

Z)i HEREA—ARH T F 1,442 1,442 1,442 1,442 1,442 - -

B e mmms 2 as— | FERBRRE | 1,287 1,292 1,292 1,292 1,292 - -

X PHRERA R =S AEEEBUE | % -0.8 0.4 00 00 00 - -

e HERERNEAT RE % 89.3 89.6 89.6 89.6 89.6 - -
- m 14,525 14,498 14,498 14,498 14,498 - -
SELR IaiEEHEUE | % 0.0 -0.19 0.00 0.00 0.00 - -
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TRETH 4 RFHHET THRXEmE 14.4km
= THIOEE | SHTEE | SH2EE | o = | o - = | o -

7 (MR EE ket 8.1 8.1 8.1 8.1 8.1 - -

ﬁ HEREA—ARH T F 5,852 5,954 6,004 6,054 6,104 - -

18 it 5 i 4 ZA—A— FERIMTHRE | B 264 269 274 279 284 - -

X PHRERA R =S AEEEBUE | % 174 1.9 1.8 18 18 - -

e HERERNEAT RE % 45 45 46 46 47 - -
- m 11,604 11,546 11,984 12,371 12,471 - -
SELR [T mRUE | % 0.0 —05 3.7 3.1 0.8 - -
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. ERHI0FEE | SHTEE | SH25FE | o = | o - T N -

7 (MR EE ket 0.7 0.7 0.7 0.7 0.7 - -

Z)i HEREA—ARH T F 2,221 2,278 2,378 2,478 2,578 - -

B e mmms 2 as— | FERBRRE | 1,455 1,490 1,540 1,590 1,640 - -

X PHRERA R =S AEEEBUE | % 27 23 3.2 3.1 30 - -

e HERERNEAT RE % 65.5 65.4 64.8 64.2 63.6 - -
- m 22,041 22,041 22,041 22,041 22,041 - -
SELR |AIEEBUE | % -0.10 0.00 0.00 0.00 0.00 - -
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BT+ & M RT THRXEmE 76.9kni
= ERHI0FEE | SHTEE | SH25FE | o = | o - = | o -

7 (MR EE ket 0.2 0.2 0.2 0.2 0.2 - -

Z)i HEREA—ARH T F 0.0 0.0 0.0 0.0 0.0 - -

B | &4 B Z A FERITEH | @& 2 2 2 2 2 - -

X PHRERA R =S AEEEBUE | % 0.0 00 00 00 00 - -

e HERERNEAT RE % 100.0 100.0 100.0 100.0 100.0 - -
- m 720 720 720 720 720 - -
SELR IaiEEHEUE | % 0.0 0.0 0.0 0.0 0.0 - -
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TRETH 4 ) THRXEmE 9.0k
= ERIOEE | FHTEE | FH2FE | o = | o - T N -

7 (MR EE ket 15 15 15 15 15 - -

Z)i HEREA—ARH T F 3,772 3,765 3,765 3,765 3,765 - -

B e mmms 2 as— | FERBRRE | 3,076 3,079 3,079 3,079 3,079 - -

X PHRERA R =S AEEEBUE | % -2.6 0.1 00 00 00 - -

e HERBEAEAKRE R E % 815 81.8 81.8 81.8 81.8 - -
- m 33,225 33,199 33,199 33,199 33,199 - -
SELR IaiEEHEUE | % 0.10 -0.08 0.00 0.00 0.00 - -
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TRETH 4 =11 THRXEmE 313.9kni
i ERIOEE | FHTEE | FH2FE | o = | o - = | o -

7 (MR EE kri 58.7 58.7 58.7 58.7 58.7 - -

Z)i HEREA—ARH T F 90,600 91,295 91,845 92,395 92,945 - -

B e mmms 2 as— | FERBRRE | 42,149 42,217 42,292 42,367 42,442 - -

X PHRERA R =S AEEEBUE | % -0.3 0.2 0.2 02 02 - -

e HERERNEAT RE % 46.5 46.2 46.0 459 457 - -
- m 488,680 490,694 491,965 493,302 494,352 - -
SELR IaiEEHEUE | % 0.10 0.41 0.26 0.27 0.21 - -
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